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Linda

A correct calculation of 22% od 200



Linda

A error in the subtraction, should be 156 trees.

M1  A0 is awarded.�



Linda

Following through the error in the number of trees, money from the sales is calculated without an error for their numer of tress

B1 is awarded.�



10% of 200 is not 22.
This is a slip.
The method is the correct idea, so M1 A0 is awarded.�



Following through the error in the number of trees,
154 x 40 = £6160.

So an incorrect evaluation, hence B0 is awrded.�



Correct cost of the trees, M1 is awarded.



Follwing through the previous error, this evalution is correct, so the final B1 is awarded.
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Linda

A correct calculation of 22% od 200



Linda

A error in the subtraction, should be 156 trees.

M1  A0 is awarded.�



Linda

Following through the error in the number of trees, money from the sales is calculated without an error for their numer of tress

B1 is awarded.�



Linda

Cost of the trees is correct.

M1 is awarded.�



Linda

Following through the error in the number of trees, this is an accurate calculation, so B1 is awarded.



Linda

10% of 200 is not 22.
This is a slip.
The method is the correct idea, so M1 A0 is awarded.�



Linda

Following through the error in the number of trees,
154 x 40 = £6160.

So an incorrect evaluation, hence B0 is awrded.�



Linda

Correct cost of the trees, M1 is awarded.



Linda

Follwing through the previous error, this evalution is correct, so the final B1 is awarded.



Correct number of trees.

M1 A1 is awarded.�



Incorrect logic.
No further marks are awarded.�
















15

7. (a) Sam’s Garden Centre buys trees to sell.

Sam bought 200 trees.
Each tree cost Sam £25.

22% of the trees were not sold.
Sam sold all the other trees for £40 each.

How much profit did Sam make?

You must show all your working. [5]

(b) The trees are planted in identical pots. They each have a uniform cross-section in the
shape of a regular hexagon.

Show that these pots will tessellate. 1]

'~

Examiner
only
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(b) Solve the following equation. (5]

t(.4.\’+3)
............ x| el ST 2.:.a=-{u°°*3/)-t
~ A A A A
O= X > + 3% —>< €\






(b) Solve the following equation. (5]

t(.4.\’+3)
............ x| el ST 2.:.a=-{u°°*3/)-t
~ A A A A
O= X > + 3% —>< €\





















(b) Solve the following equation. (5]

x-1 .
x(4x+3)+2-0

















If B2, penalise -1 for incorrect subsequent work

19. (b) x—1+2x(4x+3)[=0]
or x—1+8x2+6x[=0]
or x—1=—2x(4x + 3)

8x2+7x—1[=0]
Bx—1)x+1)[=0]

1 -
x=gorx=-1

M1

A1

B2

B1

Clearing fraction

Allowe.g. x—1+2x(4x+3) =0
x(4x + 3)

Allow M1 for x — 1 = 2x(4x + 3)

Collecting terms and re-arranging quadratic equation
Ignore presence of denominator (provided correct).

B1 for (8x .... 1)(x .... 1)
FT their quadratic equation, provided of equivalent
difficulty.

Both answers required. Strict FT ‘their derived
brackets’.

Using quadratic formula FT their quadratic equation,
provided of equivalent difficulty.

(x=) =7 +[7%2—4(8)(-1)] M1
2(8)
For M1, allow one error, in sign or substitution, but
not in formula.
x= _—7+\81 A1
16
X = g’orx =—1 (both answers required) A1

No marks for a trial and improvement method.











(b) Solve the following equation. (5]

t(.4.\’+3)
............ x| el ST 2.:.a=-{u°°*3/)-t
~ A A A A
O= X > + 3% —>< €\




Sticky Note

A significant number of candidates were unable to access this question, usually failing to clear the fraction and re-arrange to form a quadratic equation. Even if they obtained the required quadratic equation (or one of equivalent difficulty) many were then unable to handle it successfully.

The opening line from this candidate is an example of an extremely common incorrect response. It unfortunately leads to a quadratic expression which cannot be factorised, though ‘follow through’ marks are available for a valid attempt to solve e.g. using the quadratic formula. 
No marks awarded here.















Sticky Note

An incorrect start, leading to an incorrect quadratic equation (though the resulting equation should have in fact been cubic). Unfortunately, the obtained quadratic expression cannot be factorised, though ‘follow through’ marks are available for a valid attempt to solve e.g. using the quadratic formula (even though this equation has no real roots). 
No marks awarded here.











(b) Solve the following equation. (5]

x-1 .
x(4x+3)+2-0




Sticky Note

M1 is awarded here for a correct method of clearing the fraction. However, the candidate does not re-arrange the resulting quadratic equation into an appropriate form. No further marks are awarded.
1 mark in total.
















(b) Solve the following equation. [5]



























































































































































































































































If B2, penalise -1 for incorrect subsequent work

19. (b) x—1+2x(4x+3)[=0]
or x—1+8x2+6x[=0]
or x—1=—2x(4x + 3)

8x2+7x—1[=0]
Bx—1)x+1)[=0]

1 -
x=gorx=-1

M1

A1

B2

B1

Clearing fraction

Allowe.g. x—1+2x(4x+3) =0
x(4x + 3)

Allow M1 for x — 1 = 2x(4x + 3)

Collecting terms and re-arranging quadratic equation
Ignore presence of denominator (provided correct).

B1 for (8x .... 1)(x .... 1)
FT their quadratic equation, provided of equivalent
difficulty.

Both answers required. Strict FT ‘their derived
brackets’.

Using quadratic formula FT their quadratic equation,
provided of equivalent difficulty.

(x=) =7 +[7%2—4(8)(-1)] M1
2(8)
For M1, allow one error, in sign or substitution, but
not in formula.
x= _—7+\81 A1
16
X = g’orx =—1 (both answers required) A1

No marks for a trial and improvement method.
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Linda

Correct cost of 1/4 kg of strawberries, £2.15

B1 is awarded.�



Linda

Method of dealing with the change is correct, but accuracy is not.

M1 is awarded�



Linda





Linda

An incorrect next step, or a check that their subtraction was correct??



Linda

No further marks for the mathematics are awarded.



Linda





Linda












{8460+ 1—{4 30 o
f4.2052:-£2.15= s

£20 42152 £17.85- this would be fhe change. if
She just  bought Stiawberries.

Stromberties: e
{11.95 - £255—£|s 30

£255= "4 of raspbesries
£253x4=£1020
O\uk

£255x6=£1530




Linda

An incorrect follow through, divided by three and doubling is required.

M0 A0 is awarded.
�



Linda

Lacks organisation, although the vast majority of calculations are shown and most units are given.

OC0 W1 is awarded.�










b = + %6 =|7. 45

! =7 7206




Linda

A correct method with accurate calculations to find the cost of 1.5kg of raspberries.
Then to find the cost of 1kg of raspberries, although the calculation is not shown, a check of multiplying back by 6 is shown�



Linda

This should be labelled raspberries.



Linda

A correct response.

B1  M1  m1  A1  M1  A1 is awarded.�



Linda

One label is incorrect and units of mass are omitted.
A few more labels of calculations would have been helpful for the reader.

OCW 1 is awarded.�
















WJEC GCSE MATHEMATICS - NUMERACY (3310U30-1)

SUMMER 2019 MARK SCHEME

GCSE Mathematics-Numeracy

Unit 1: Intermediate Tier Mark Comments
1. Penalise -1 only on their first possible A1 for incorrect
units. Ignore units not given
(Ya kg strawberries costs) (£) 2.15 B1
(Mr Thomas pays) 20-2.55 M1 (=£17.45)
OR
(Cost of strawberries from £20) 20 -8.60 + 4 (=20-2.15=£17.85)
(Cost of 172 kg raspberries) 20 -2.55 —8.60 + 4 m1 (=£17.45-£2.150r £17.85—2.55)
(=£) 15.3(0) A1 Sight of (£)15.3(0) implies all previous marks
FT ‘their 8.60 + 4’
(Cost of 1 kg raspberries) M1 FT 'their 15.3(0)'
15.3(0)+3 x2 or 153(0)+1.5
(=£)10.2(0) A1
Consider implication of units not given in W mark
Organisation and communication OC1 | For OC1, candidates will be expected to:
* present their response in a structured way
« explain to the reader what they are doing at each
step of their response
* lay out their explanations and working in a way that
is clear and logical
« write a conclusion that draws together their results
and explains what their answer means
Writing W1 For W1, candidates will be expected to:

+» show all their working

* make few, if any, errors in spelling, punctuation and
grammar

» use correct mathematical form in their working

* use appropriate terminology, units, etc.

© WJEC CBAC Ltd.











Question 1

fus $20 ook gees £2-05p Chenge

g  Q0-2-95 = ITus.

n bU&S Yu of . Strewberies

\S). . W 90-210. = 1T1.95
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1.4 kg of strawberries calculated accurately

B1 is awarded�



Amount paid is calculated accurately.

M1 is awarded�



Linda

The amount spent on strawberries is substract ….. but not from £17.45, but from £20, which is incorrect.  
£2.15 should have been subtracted from £17.45 found previously.

m0 A0 is awarded.

�



Following through, the candidate believes 1.5kg of raspberries costs £17.85.
To find the cost of 1kg of raspberries, they should have divided by 3, to find the cost of 1/2 kg of raspberries, then double it to find the cost of 1kg.

M0  A0 is awarded.�



The candidate has considered their organisation and writing, labelling and showing calculations, units are used.

OC1  W1 is awarded.�



Linda

Correct cost of 1/4 kg of strawberries, £2.15

B1 is awarded.�



Linda

Method of dealing with the change is correct, but accuracy is not.

M1 is awarded�



Linda





Linda

An incorrect next step, or a check that their subtraction was correct??



Linda

No further marks for the mathematics are awarded.



Linda





The amount spent on strawberries is substract ….. but not from £17.45, but from £20, which is incorrect.  
£2.15 should have been subtracted from £17.45 found previously.

m0 A0 is awarded.

�



Linda












£8%60= 1—{4 30 Y
{4.30=2:-£2.15= ’/4

£20-215= £17.85- this would be the change. if
She just  bought Stiawberries.

Strawberties: o
{11.95 -£2155-05.20 ©

£255= "4 of raspbesries o
£253x4=£100 L
Check: .
£)55x6=£1520




A correct method with accurate calculations to find the cost of 1.5kg of raspberries.
Then to find the cost of 1kg of raspberries, although the calculation is not shown, a check of multiplying back by 6 is shown�



This should be labelled raspberries.



A correct response.

B1  M1  m1  A1  M1  A1 is awarded.�



One label is incorrect and units of mass are omitted.
A few more labels of calculations would have been helpful for the reader.

OCW 1 is awarded.�



Linda

An incorrect follow through, divided by three and doubling is required.

M0 A0 is awarded.
�



Linda

Lacks organisation, although the vast majority of calculations are shown and most units are given.

OC0 W1 is awarded.�













Linda

A correct method with accurate calculations to find the cost of 1.5kg of raspberries.
Then to find the cost of 1kg of raspberries, although the calculation is not shown, a check of multiplying back by 6 is shown�



Linda

This should be labelled raspberries.



Linda

A correct response.

B1  M1  m1  A1  M1  A1 is awarded.�



Linda

One label is incorrect and units of mass are omitted.
A few more labels of calculations would have been helpful for the reader.

OCW 1 is awarded.�







M1 is awrded for subtracting the change from £20.�



This should be £8.40 divided by 4 subtracted from £17.45, hence
m0 A0 is awarded.�



An incorrect follow through, divided by three and doubling is required.

M0 A0 is awarded.
�



Lacks organisation, although the vast majority of calculations are shown and most units are given.

OC0 W1 is awarded.�
















1. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

Sioned works in a grocery shop.
She has made a poster for the window of the shop.

Raspberries
Strawberries Today's special offer
£8.60 per kg
........................ per kg

Sioned has forgotten to write the price of raspberries on the poster.
Mr Thomas buys %kg of strawberries and 1% kg of raspberries.

He pays with a £20 note.
He gets £2.55 change.

Calculate the price of 1kg of raspberries.
You must show all your working. [6 +2 OCW]

03
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Question 3a

be0 23 - taze. I R—

fzo 210 = bee

Lrzo- bez - L1O%

Aled's mothar paid £. 220 ...

Aled paid€ LT
Gareth paids . | 458




Linda

The candidate believes that Aled’s mother pays £30.
So Aled and GAreth have £630 to pay between them.

The candidates shares this £630 in the ratio 
1 : 9 accuratley.
So follow through marks are awarded.

M1 A1 A1 is awarded.�



Linda

A suitable statement.

E1 is awarded.�










(il Calculate how much each person paid towards the cost of the holiday.
s 0f 66010 X3 =20
- Lbo —"30 S B A D eeeeee————
2 A Vx9=10

D- B 6xc T\0=63

L5 S O—_———— .
M= I X65°63 4 xe3- De

Aled's mother paid €. 30.......
Aedpaids.. 02 ..
Garethpaide  DGT




Linda

Aled’s mother does pay £220.  This has been calculated accurately.

B1 is awarded.�



Linda





Linda

A suitable statement.

E1 is awarded.�










Thes woltages, Fooails, of an alectric circoit is green by e fore ol
Rl i
whezre Lis the curment meagured i amps, and & s the resstance mesasures mohms.
Ui gy & esgpEriment,
*  Fums measuned 3 280 wolts, comest w0 the nearest |13 volts,

¢ Fwss masaured at 02 ampe, comedt o ths nagmat 01 amgs.

Caloulsla the leasl possible vabua and greaest poesibles va ws cf the recistance A

CRLTTEE R TT EE

135 2. e

(%]

o=

ol

TR

LT

Leasi poeshble vawe of = 71 24% . ahms

Grestest possible valup of f= =125 ohms

















3(a)(i) (Aled’s mum paid) (£) 220
OR

(Aled and Gareth pay a total of 660 — 220) (£)440

B1

(660 —220) = (1 +9) or 9 x (660 —220) + (1 +9) M1 | FT 660 — ‘their derived 220’
or 44 or 9x44
(Aled paid) (£) 44 A1
(Gareth paid) (£) 396 A1 FT 9 x 'their 44'
FT 440 - 'their 44' provided M1 awarded (this allows
If answers 44 and 396 are reversed, M1, A0, A1 to be
awarded)
If MO, AO, A0 award SC1 for any of the following
e answers that add to ‘their 440’
e answers (£)66 and (£)594
e answers (£)22 and (£)198
3(a)(ii) Explanation, e.g. E1 Depends on at least 1 mark awarded in 3(a)(i)
220 + 44 + 396 (= 660), Mark as appropriate to candidate’s method in 3(a)(i),
'add them all up', e.g. accept alternative method using £44 or £396 (if
'check to see if the total is (£)660', originally found from subtraction, sight of appropriate
'divide Gareth's amount by 9' multiplication or division, or vice versa)
If values are used, FT provided the 3 values total
(£)660
If a total is given in a response it must be correct,
(£)660
Allow, e.g.
'multiply Aled's mother's amount by 3/,
3(b) Sight any of any one of the following: B1 Allow 1.13 (kg) provided it is interpreted correctly
o (21.13kg—20kg =) 1130 (9) Accept evidence in working, do not award if working
e 21130 (9) is not seen
e consistent conversion of units g to kg, If units are given they must be correct
keeping 21.13kg and 20kg unchanged
B2 Do not award B2 unless either previous B1 awarded

Coat AND Jumper
(820 + 320)

or appropriate correct working shown
Do not award B2 if incorrect working or no working
seen

B1 for any of the following:
e 1130-820=310
e Coat with sight of 310(g) left
e Unambiguous choice of 820(g) AND 320(g)
to remove
e ‘coat and jumper’ without working shown, not
to be awarded if incorrect working seen

Note: B1, B2 for unambiguous choice of Coat AND
Jumper with for sight of

21130 — 820 — 320 = 19990 or 820 + 320 = 1140
OR

B1, B1 for sight of 21130 — 820 — 320 = 19990

© WJEC CBAC Ltd.











Question 3a

be0 23 - taze. I R—

bro tio 2 byt

Lrzo- bez - L1O%

Aled's mothar paid £. 220 ...
Aled paid€ LT
Gareth paids . | 458




Aled’s mother does pay £220.  This has been calculated accurately.

B1 is awarded.�







A suitable statement.

E1 is awarded.�



Linda

The candidate believes that Aled’s mother pays £30.
So Aled and GAreth have £630 to pay between them.

The candidates shares this £630 in the ratio 
1 : 9 accuratley.
So follow through marks are awarded.

M1 A1 A1 is awarded.�



Linda

A suitable statement.

E1 is awarded.�










(il Calculate how much each person paid towards the cost of the holiday.

etz sl Cem= 10 %3z 20

- Lbo —"3() S B A D eeeeee————
2 A Vx9=10

Do Boxc T\0=63

BTN, om0 ‘
M= A X62°63 4 xe3- bet

Aled's mother paid €. 30.......
Aedpaids.. 02 ..
Garethpaide  DGT




Linda

Aled’s mother does pay £220.  This has been calculated accurately.

B1 is awarded.�



Linda





Linda

A suitable statement.

E1 is awarded.�



Does this candidate think that 1/3 of £660 is £30??  An incorrect method.  £660 should be divided by 3 to find a third.噁



The candidate believes that Aled’s mother pays £30.
So Aled and GAreth have £630 to pay between them.

The candidates shares this £630 in the ratio 
1 : 9 accuratley.
So follow through marks are awarded.

M1 A1 A1 is awarded.�



A suitable statement.

E1 is awarded.�










Thes woltages, Fooails, of an alectric circoit is green by e fore ol
Rl i
whezre Lis the curment meagured i amps, and & s the resstance mesasures mohms.
Ui gy & esgpEriment,
*  Fums measuned 3 280 wolts, comest w0 the nearest |13 volts,

¢ Fwss masaured at 02 ampe, comedt o ths nagmat 01 amgs.

Caloulsla the leasl possible vabua and greaest poesibles va ws cf the recistance A

CRLTTEE R TT EE

135 2. e

(%]

o=

ol

TR

LT

Leasi poeshble vawe of = 71 24% . ahms

Grestest possible valup of f= =125 ohms




Sticky Note

This candidate has rearranged the formula correctly, and has used correct bounds. However, they have not used the opposite bounds in the divisions to arrive at the least and greatest possible resistances.
B1B1M0A0M0A0

















3. Aled and Gareth went on holiday to France.
(@ The total cost of the holiday was £660.
¢ Aled’s mother paid % of the total cost.

¢ Aled and Gareth shared the remaining cost in the ratio 1 : 9.

(i) Calculate how much each person paid towards the cost of the holiday. [4]
Aled’s mother paid £ ...
Aledpaid £ ...
Garethpaid £ ...
(i)  Explain how you could use your answers to check that they are correct. 1]

Examiner
only
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Question 4c

(c) (i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3]

17 48 53 55 90
us
17 5\230
43
53
N

Ss
A 0

3

Mean fuel economy is ...




Linda

Errors in the addtion and the follow through division by 5.

But correct process of summing the 5 numbers and attempt to divide by 5.

M1  A0�



Linda

Although the first part of the sentence doesn’t make sense, the later part does, ‘one engine which dropped the average’ is an acceptable response.

E1 is awarded.�










() (i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3]

AT A ST A YR AT MY

.

Mean fuel economy is . @.\1\" miles per gallon

(i) Why is this not a suitable average for cars with engine sizes of less than 1-5 litres?

Y o [

LT UM W Wangy |, g HAa R UM% .......
.u\q(sz AU Nppedh L NTTRYR




Linda

A correct response.

B1 M1 A1 is awarded.�



Linda












c)

(i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3]

557

S

s3

&5 gide %

v 3 v _5\—2{':6_
1%.Q

Mean fuel economy is Ll'% miles per gallon




Linda

One of the values is incorrect.  There are not two 53s, one of these should be 17.

B0 is awarded.�



Linda





Linda

An incorrect response.

E0 is awarded.�
















4(c)(i) Sight of
55, 57, 53, 17, 48

(55+57+53+17+48) = 5

(230 + 5 =) 46 (miles per gallon)

B1

M1

A1

FT ‘method to sum 5 numbers’ provided at least 3 are
correct

FT provided at least 4 correct values are used

FT responses must be evaluated not left as improper
fractions, however allow rounded or truncated final
answers











Question 4c

(c) (i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3]

17 U8 53 955 S50




A correct response.

B1 M1 A1 is awarded.�







Correct values.

B1 is awarded.ៀ



Linda

Errors in the addtion and the follow through division by 5.

But correct process of summing the 5 numbers and attempt to divide by 5.

M1  A0�



Linda

Although the first part of the sentence doesn’t make sense, the later part does, ‘one engine which dropped the average’ is an acceptable response.

E1 is awarded.�










() (i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3]

A3 +£.39 2 Y3 +¥3F rNMy.
IE

Y el 20
izl

Mean fuel economy is . a-\'\r miles per gallon

(i) Why is this not a suitable average for cars with engine sizes of less than 1-5 litres?

Y o [

LT U WS Wawgy |, b Mm% ......
u%mmmwpmmm%




Linda

A correct response.

B1 M1 A1 is awarded.�



Linda





Correct values.

B1 is awarded.ៀ



Errors in the addtion and the follow through division by 5.

But correct process of summing the 5 numbers and attempt to divide by 5.

M1  A0�



Although the first part of the sentence doesn’t make sense, the later part does, ‘one engine which dropped the average’ is an acceptable response.

E1 is awarded.�










(c) (i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3]

57
SsS
. sz
, 4 gide %
v 3 v _5\_25':"—0__

21%.Q

Mean fuel economy is _L]'% miles per gallon




27 is incorrect.
It should be 17.

So B0 is awarded.�











Linda

One of the values is incorrect.  There are not two 53s, one of these should be 17.

B0 is awarded.�



Linda





Linda

An incorrect response.

E0 is awarded.�
















11

Examiner
[
(c) (i) Calculate the mean fuel economy of the 5 cars with the smallest engine sizes. [3] o
Mean fuel economy is ... miles per gallon
(i)  Why is this not a suitable average for cars with engine sizes of less than 1-5 litres?
(1]
(d) Draw, by eye, a line of best fit on the scatter diagram. 1]
(e) Sian says,
The scatter diagram is more reliable to estimate the fuel economy
of cars with engine sizes less than 2-5 litres.
Do you think Sian is correct?
Yes No Don’t Know
You must give a reason for your answer. 1]
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Linda

10% of 200 is not 22.
This is a slip.
The method is the correct idea, so M1 A0 is awarded.�



Linda

Following through the error in the number of trees,
154 x 40 = £6160.

So an incorrect evaluation, hence B0 is awrded.�



Linda

Follwing through the previous error, this evalution is correct, so the final B1 is awarded.



Linda

Correct number of trees.

M1 A1 is awarded.�



Linda

Incorrect logic.
No further marks are awarded.�
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Linda

A correct calculation of 22% od 200



Linda

A error in the subtraction, should be 156 trees.

M1  A0 is awarded.�



Linda

Following through the error in the number of trees, money from the sales is calculated without an error for their numer of tress

B1 is awarded.�
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Linda

A correct calculation of 22% od 200



Linda

A error in the subtraction, should be 156 trees.

M1  A0 is awarded.�



Linda

Following through the error in the number of trees, money from the sales is calculated without an error for their numer of tress

B1 is awarded.�



Linda

Cost of the trees is correct.

M1 is awarded.�



Linda

Following through the error in the number of trees, this is an accurate calculation, so B1 is awarded.



Linda

10% of 200 is not 22.
This is a slip.
The method is the correct idea, so M1 A0 is awarded.�



Linda

Following through the error in the number of trees,
154 x 40 = £6160.

So an incorrect evaluation, hence B0 is awrded.�



Linda

Correct cost of the trees, M1 is awarded.



Linda

Follwing through the previous error, this evalution is correct, so the final B1 is awarded.
















6(a) Allow £2 mm and £2° throughout
Correct position indicated B3 | Irrespective of any indication of construction correct
or otherwise
If not indicated, allow for the correct and
unambiguous intersection of the perpendicular
bisector and the arc
If not B3, award:
B1 for an arc of radius 4cm in the correct position
AND
B1 for perpendicular bisector between Block 1 and
Block 2 drawn (accept bisector indicated as a short
vertical indication at the midpoint between Block 1
and Block 2)
6(b) Answer in the range 102 to 110 (metres) B1
7(a) (Costto Sam) 200 x 25 (=£5000) | M1
(Number of trees Sam expects to sell is) M1
200 - 0.22 x 200 or 200 x 0.78
(=) 156 (trees) A1 Depends only on previous M1
(Money from sales of trees is 40 x 156 = £) 6240 B1 FT the number of trees sold, i.e. 40 x 'their 156’
(Expected profit is £6240 - £5000 =)
(£) 1240 B1 FT ‘their (40 x 'their 156') — 5000 correctly evaluated
7(a) Alternative method:
(Number of trees Sam expects to sell is)
200 - 0.22 x 200 or 200 % 0.78 M1
(=) 156 (trees) A1
(Expected profit) M2 | FT 'their 156'
156 x (40— 25) M1 for 156%(40-25) - ..... or
- (200 - 156) x 25 ... - (200 - 156) x 25)
(£) 1240 A1 | CAO
7(b) A suitable diagram with at least 3 hexagons (or 2 E1 ISW

extra hexagons) shown to tessellate
OR
Sight of 3 x 120° = 360° or equivalent

A suitable diagram will involve 3 hexagons meeting at
a point shown at least once, the 6 sides of the
hexagons must be shown

Allow if a correct diagram given with angles
unlabelled or incorrectly labelled

Do not accept if only the exterior angles (labelled
correctly or incorrectly) of the given hexagon show,
need to show further hexagons
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A correct calculation of 22% od 200



A error in the subtraction, should be 156 trees.

M1  A0 is awarded.�



Following through the error in the number of trees, money from the sales is calculated without an error for their numer of tress

B1 is awarded.�



Cost of the trees is correct.

M1 is awarded.�



Following through the error in the number of trees, this is an accurate calculation, so B1 is awarded.



Linda

10% of 200 is not 22.
This is a slip.
The method is the correct idea, so M1 A0 is awarded.�



Linda

Following through the error in the number of trees,
154 x 40 = £6160.

So an incorrect evaluation, hence B0 is awrded.�



Correct cost of the trees, M1 is awarded.



Linda

Follwing through the previous error, this evalution is correct, so the final B1 is awarded.



Linda

Correct number of trees.

M1 A1 is awarded.�



Linda

Incorrect logic.
No further marks are awarded.�











